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Bl10.3.2.04.010 Explain that in artificial selection, humans have the capacity to influence certain characteristics of organisms through selective breeding
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Which of the following is considered a disadvantage of hybridization? Copagill LB e Jid LU Lea

Hybridization is harmful to the affected organisms sl dad) ClSIL L ppagd a

r
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: Hybridization is time-consuming and expensive Cilag Calgll Sllgni pagll : b
1 1
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Hybridization is inferior to genetic engineering it duxighl ya dad Jil agal

Hybridization is technically difficult to perform G 245 Caa (paglll d
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Think Critically
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A breeder performs a test cross to determine the genotype of a o3 gou adadl oaadl Lkl saadl UjLaal gl el (Giad
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Bl0.3.3.02.024lllustrate the mechanisms of gene therapy and the replacement of defective genes with healthy ones Figure 6
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Which do scientists use to cut genomic DNA into DNAJ! adail pldad) diiieas 5l o

smaller fragments to isolate specific genes? s Gl 0 o T (‘.a*hﬂ
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The figure below shows a recombinant nucleic acid plasmid, el Slaa Sip aas Bl maag slial Jgi
What is the role of the molecule below in DNA cloning? fDONA 0 gl 2 o@adl 1 5 b

To identity the host cell that has taken up the gene of interest
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Which is the process that scientists use to produce )5 p Y ol lpasilo qﬂ\ adaall Lo
large numbers of recombinant DNA molecules? o) Jaa i paian il (Bl

Polymerase chain reaction Juduall Byl (ol 1

Gene cloning salladl

Recombinant DNA technology  uSall das ggsll jamll 438
Gel electrophoresis ol dall
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Which process is applied to identify mutations or YDNA ol B cUad¥) ol cihalall saadd dadial) dulaall Le

errors in DNA molecules?
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: DNA sequencing DNA Juls : 3
Gel electrophoresis ookl Juadl b
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Recombinant DNA technology S e g5l panall s o




Aandew (53-b AW Sl Jldionly el gl W 2o BIO.3.3.02.024 AL 46

Bl0.3.3.02.024lllustrate the mechanisms of gene therapy and the replacement of defective genes with healthy ones

Figure 8 46

L eald)

130 140 150 160

| dlatll 5,30 T sl
' ‘ ‘ . aields S0 pasas
-_— G

)
L) > > O 4400

|

|
®

e—
:
|
> @)

DNA ;> seunnss Jelaz)) Jasds oo ao)) =¥ oMy Jaal oz
waentl 3 els pasly Boby By a0 2 dadal) s i jpaplally 5 5eed!
GeranST yogara 5ienl ) (509!
355415509 aas ;¥ ladedSsdly

DNA Luls a3 45 8 JSil
S gl daggd) SlaSedSend) slasa sl
DNA _3\& Ll s sosd s caw
u.'b....::"i".

DNA ;> Lls)) Lals, 8 JS& Jao o
siswl A gosd) paesdl 5,als maply 2y a0 i
sl O any ¥ calatsdSecdly (amwSY) ngaie
(o B pdo &S gl S o calady ]
DD AL, (5,00) ol jidy ccalise ageudSes
Jelasll Cabgy apalSec] oS5 28 o jols
Ry day il Josel) aSedSendl guazly Lose
oM 3 Jes canlisg Jlobs) @3 abs, &) U3 oe
e inSyy dbs,iY) Juad Gle oo gdfai”
Jralaass sy 8imead) 32 ¥ () Juabuwtd) 3,
|




dardes 5yl AN Sl Jladiuly el el Wl moe  BIO.3.3.02.024

$ Lzl 3 L) Jelas pusig 3L .16
DNAJI &) € DNAJY g A

DNAJ o D DNAJ i) B




delyillg debinall @ diudal 438 > dog ¢ el baatll e ALaYI jasy Ciay BIO.3.3.01.021 48

Bl0.3.3.01.021 Describe some exmples of genetic modification,and explain how its applied in industry and agriculture 48

Recombinant DNA technologies have led to the development of

Gl ekl ) 4SS aladdl (599l amaad) il &

transgenic plants, which can withstand harsher environmental conditions DA e Asaldl) Autul) Gg dall Jadd lgiay Liua Alles

by hybridizing the genome of two distinct plant species. ool e Gudliia fue g agiia Cuagd

?easiaal) (b (gl ) Cibas il plaiu (Say

How can restriction enzymes be used to hybridize these two genomes?

They can be used to cleave mitochondrial DNA at specific tlge (A LyxuigSonall 3 agagall (seqll (manl) adadl lgalasind (Ko
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They can be used to cleave mitochondrial DNA at random gilge (B LyuisSausall 8 agagall (599l Lmaall aladl lgalaaind (S
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Which of the following provides an example of a transgenic organism? | Sl Jaa) A Gl e Yta pdls s Laa gi

Praying mantises raised to kill garden pests Sl chis Bl G clpls A
d.

s 70~ o e, 11 | F. S———————
+ Chicken genetically engineered to resist diseases sl g g it cid Byl V]

Ci

Hybrid rice grain that produces higher yields
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Which of the following organisms has been Genetically dusigd Jlaa o Aaladlal @ A Laa Gl gl
engineered to be used in research laboratories around the | allal) Jga Gl clpida 2 auly @i Ao 4l gl

world to study diseases and develop ways to treat them? Clgaallaa Jilug ughig ol Ayl
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50-51

Bl0.3.3.03.005 Study the importance of the gentic codes mod lification intact for the prevention of diseases and the importance of the human genome
composition in determining the paternity and crime, by using the interactive software in a computer

50-51

What percentage of nucleotides in the human  agiall b Sagagall ClaiigiCoald o duglal dpadll L

genome are responsible for encoding proteins ",.: Bapagall Gyl il o Alghually Syl
in the body?
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BI10.3.3.03.005 S5tudy the importance of the gentic codes mod lification intact for the prevention of diseases and the importance of the human genome
composition in determining the paternity and crime, by using the interactive software in a computer
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The figure below shows DNA encapsulated in a virus and s A DNA Q) e olial JS&N o
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The central dogma is that the information in <laad) V’ Sagapall Silaglaall oi S5 Al fasall ]
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Which pairs of hormones have opposite effects? || t5sliaia cili L) A6 Cligaygd) o &8 Gl panall ca (gl
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The graph below shows the blood glucose levels b jsSslall Siligicea sl il il [ 9

over a period of time. Which hormone might gt gl Spa ,;I;i A e B saa e Al
have caused a sudden surge as indicated by the (ealdall LG ,1.,1 ) oS a8 ANEN

arrow?
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Growth hormone gaill il 4



Which hormone is released by the pancreas? b ALl 8 g1 O pasgll Lo
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Cortisol ~ Jg)a))
Thyroxine = (u.S all
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Based on the photos below, which person is  clg mdie (uadl gl ool gl b Tk
likely to have high levels of epinephrine? okl (e dadlj
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Person B B Laiill
either person Laﬁ.u. wly
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In the case of dehydration, the antidiuretic A L) O gapd) By cailiall Glas CiS o ,a
hormone binds to kidney cells iny Laa A0S LY e Bagagall ClLiall ) gl
causing__ . —
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The kidney to reabsorb more water and decrease the amount of water in the urine
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The kidney to reabsorb more water and increase the amount of water in the urine |
Jsd) gt el Ly elall S 253l € )y

The kidney to excrete more water and decrease the amount of water in the urine |
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The kidney to excrete more water and increase the amount of water in the urine



b.

d.

The figure below shows the effect of an endocrine gland on some oAty L slawa B 50 gadagy sUal JSAN
organs of the body, study it and then answer the question: () 5 ual A Adadd canead) oliasi
Which of the following is indicated by the structure (A) in the figure? TSN 3 (A) uSal adl sady A Laa i

Learning Outcomes Covered
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Adrenal glands

Poslerior piluitary gland

Anterior pituitary gland b | il sl S el
> . S LA

Hypothalamus g cuad
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Which hormones are released from nerve cells | oa Y duseand) LAY 00 A @ligajgd) oa ‘;I
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